
Across
7. Non-vascular plants have no _________ system for 
water and nutrient movement (internal)
8. Monocots have ______ cotyledon (one)
9. Dicots have a ________ system (taproot)
10. Kingdom Plantae is divided into two types of 
plants: non-vascular and __________ plants 
(vascular)
11. Monocots have ___________ vascular bundles of 
xylem and phloem all throughout the stems 
(scattered)
13. Vascular plants are also divided into two groups 
_________ and angiosperm (gymnosperms)
14. Monocots have a ________ root system that 
spreads out (fibrous)

Monocots and Dicots
Complete the crossword puzzle below
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Down
1. Dicots always have _________ veins in the leaves 
(branched)
2. Monocots always have _______ leaves (parallel)
3. Herbicides labeled for broadleaf weeds will kill 
______ (dicots)
4. _________ have flower parts in threes or multiples 
of threes (monocots)
5. Vascular plants make up most of the plants in our 
____________ (ecosystems)
6. Monocot and dicot are the two divisions used to 
classify flowering plants, or __________.
(angiosperms)
12. Vascular plants contain internal __________ 
(vessels)
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